208

3.6

3.7

3.8

39

3.10

3.11

4.1

4.2

43

4.4

4.5

4.6

4.7

w, = 0,6 m/s,|Ah = 33,44 mm,

h:=20,687 m

Fq

F, + F,

Vg = v, cosa

F - -
=—7/, Ly =3mr’wt ,
3m

Ql

Fbg

a 2
3mr

v="733,4 m/s

an=75233 m/s%, 1=0,5759 s,
v =3,624 m/s

v, = 0,355 m/s
Sudar cestica

/=0,3679 m

k=1/3, AEx = 80%

k=03, a=60°8=30°

x=3m, y=3/3m,1=06s,
B=73,9°c=9,014ms,
§:9\/§m

H=5,012m

y:30° h=0,2309 m,
=0,651s,13=0,217s,
C:O,32555

AE,=-7,063],L=1,445m
h=0,716 m

4.8

4.9

4.10

4.11

4.12

4.13

4.14

4.15

4.16

4.17

4.18

4.19

4.20

=0,8 m/s, c; =2,6 m/s

y=43x-0,1962x,
Vioom =3:329m, 1=1,2s,
a=-31,9°,v = 5,889 m/s,

¢=3,992 m/s, xp = 4,5858 m

c1 = 3,697 m/s, ¢, =
AEx =52 %.

3,357 my/s,

ml/m2=4,k= 1/9
=3,175m/s, c; = 4,16 m/s

c1=2,22m/s, c, =-1m/s,
d=17,849 m

¢ = 13,384 m/s, ¢; = 6 m/s,
vi=12,93 m/s, k=1/3,

AE = -48,117
= 4,381 m/s, ¢, = 1,239 mJs,

¢y = -1,171 mJs, h = 78,24 mm,

N, = 140,5 N

¢, =-0,057 mJs, ¢, = -1,457 m/s,
0 =65,165 mm

2 5 m/s Cr =
(ﬂz =53,13°
AE,=-0,3751,d=77,7Tm

12,5 m/s

k=0,417,¢,=0,
Cr = 2,167 m/s, F12 =1000 N

ca=2,461 m/s, B, =40,33°,
=9,162 m/s, fg = -88,67°,

=3,305 m/s, v, = 19,586 m/s,
¢, =19,362 m/s, k= 0,188,
AEy=-929,25]

Kinetika sa zbirkom zadataka



